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- you can oniy order 17 bulbs

=5+ 5,
¥ subtract 5 from each side.
Sémp lity. |
Multiply each side by 3.

24 =y ﬁ Samp ify.
Check: 13 = % + 5

132 24 | 5 gubstitute 24 for y.

3
13 28+5
13 = i3 ¢

You order iris bulbs from a catalog. Iris bulbs cost
$.90 each. The shipping charge is $2.50. If you have |
$18 50 to spend how many iris bu!bs can you order’? B

Defme Let . = the nu

Write: 090 - + 250 = 1850
090D + 250 = 18.50
™50 — 18.50 — 2. 50 Subtract 2.50 from each side.

16 - Simplify.
6%6 Divide each side by 0.90.
= 47.7 Simplify.

You can order 17 bulbs. _ .
Check is the so!utlon reasonabie‘? You can -__

16.20 plus $2.¢ B0 for shipping, which is more than $18 50,
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Algebra 1, Chapter 2
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Subtract 8 from each side. |
Simplify.

Use the Multiplication Property of Equahty
Multiply each side by —1.

—1(13)“

-13 =p Simplify.
Checl: 21 = —p + 8 )
21 2 —(—13) + 8 Substltute ~13 forp
=21

21

24 + 4 Justlfy each step

- Subtraction Property of Equality

Simplify.

(—24){4) Multiplication Property of Equality

Samphfy

—96

il
O

Solvé 3 — 5z = 18. J;.lstify each step.
&mﬁ
18 — 3 Subtraction Property of Equailty
15 Simplify.

= 1_55 Division Property of Equality
z=-3  Simplify.
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